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Question No. 2

In which of these substances are the atoms held togethe
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What is u#e term for the share'dwalence 5 in a cova '@olecule’? '}‘

O lone pair electrons

O nonbonding electro g
| © core vietuons

' © bonding electrons
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- What s the oxidation number of sulfur in SO, ?
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© a molecurar element
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| @ 2.28 s 102 g/mol
| @ 1.71 x 10! g/mol






(C Q "‘GS lt)_“ - ,._‘ SO
. ? - - A‘_ "!t al . - ". ) e
.- y (ff &g & poipsile] iy
'Nq . R

'. 21‘?:( 102 g/mo
| @ 2.28 x 10? g/mol

| ‘17‘ x 101 g/mou .





ah*blﬂ’ —*& | # m

& @211 : =
Il @ (1.1.2.2)
@ (1211

@ (2.1.2.1)














Yo, 2
h - L

‘a
R
(“
'“ [
‘)ﬂ
..'..
‘G"
\ ".‘
(‘.‘
K &
'\‘"'(1 %
($1)
s
ny
‘ A
. “
‘k
Y I
l\\\

\.‘
X 10 e

: l y . l

'UH.\

‘\

)"
)
X
()
12,

23
& {0
Y \

022

0.

/ G
) L@











Que«tion No

I'he correct name for the compound CCly is:

l;
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QU pmom B

In an experir_nf:nt, 50.0 g of silicon tetrachloride (S1Cly) is treated with 20.0 g of wateH
to produce silicon dioxide (SiO,) according to the following balanced equation:

SICL‘L(S} 317 ZHZO(I) N SiOz(s) T 4HC‘]_(E.,
The limiting reactant for the above experiment is:

S10,
L

H,O i \
,;14
J

S1C
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the equal

The cocﬂ'icicnls (a,b,c,d) necded 10 balance
| a FesS + b O2 , ¢ FeaOs r d SO2
| o (4,7,4,2)
| @ (4.4.7.2)
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Que.- -
jents (a,b,c,d) necded 10 balance the equal jont
> e + d S ) 3

The coeflic
a FesS + b O3

l
| @ (4.7.4.2)

| @ (4.4.7.2)
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The most correct name for the compoundPsS1ois: .

tetraphosphorus nonasulfide
triphosphorus decasulfide

tetraphosphorus octasulfide F\
tetraphosphorus decasulfide
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M KOH was dilu"ged‘t-c—;

i Que;tionNo 2
{ What is the final molarity of KOH solution, it 0.064 L of 3.4

L of 0.4 L7

0061 M
©0.54 M
©0.68 M
2027 M w






~ Question N«

Which of the foll

) carbon
nitrogen
oxygen
hydrogen

owing elements does NOT exist as a diatomic molecula
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" “What is the molecular formulaofa compound that has a molar mass of 30 g/mol and its
qihlbmthH;O?

Numbet of m
Numbed of Qe
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Calculate the mass percent composihon o1 suliur in Ga2(S04)3 Number of
DM N .

o saN 0 M
) 326

22 59%






Vtihnbon Na (A
The atomic size (radius) of

atoms

» decreases going down within a group.
s increases going across a period

o does not change going down with in @ group
¢ Increases qoing down within a group
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Hussebobd ssypsr, sucrose, fias the mabecular fisrmabs CraHeyOn Wihat i the mass pereent of carbon i sucyose
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| What substance is the reductng apent

® o™

® Cu
8 Zn

o 2"

Znis) + Cu"ag) -+ 2o (ng) + Culs)
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Question e 1

Fluonne 1s considered

' a molecular element
an atomic element
an lonic compound
a molecular compound
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Question Na 14 -

What is the term for the pairs of valence &lectrons that are not shared in a molecule?

core electrons
bonding etectrons
lone pairs of electrons

shanng electrons





Whint substsnce i the reducing apent tn the following rodax resction”
Znis) + Cu''{ag) = 2o’ (ag) + Culs)

Ve
® Cuy’
¥ Cao
W /n

0 2"
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he most cotrect nae for the ¢ ompound s i

¥ carbon tnisulfige
monocarbon disulfide
carbon disulfide

carbon sullide
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The charge of nitrate 1on s _
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In the chemica! reaction below: what is oxidized and what is reduced in the following reacti
2Al + 3Br. ~+ 2AlBr,

@ Alnry s reduced and Br, is oxidized.

o Al 15 reduced and Br_ ts oxidized.

" Allit, s reduced and Al is oxidized.
o Al s oxydizad and Br,1s reduced.






What 1« the mass percentage of O 1n CyH NSO if the molw mass of the Cougnmnd 15
3123 gmole

5%
81%
49%
27

(o)

4
v 53
20
1027%
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What i the mass percentage of O in Cp H NSO, if the molar mass of the compound &S

- 2 15
: s B
- S
- e




| —
w-'\

In the chemucal reaction bedow: what is oxidized and what is reduced in the followmng reaction”
2Al + 3Br, = 2AlBr,

Alfir.  reduced and Br_ s oxadized

> Al s reduced and Br. s oxadized
Allir, ©s roduced and Al 1s oxadized
Al s oooduzed and Br s reduoed





| Yokl questen v v 38 | Awwered § =

QueLhon m

Whaek of the Gad s —
Wha 'y lowme whntances f1ven a 1rove flev PO
. ~





Cheamisiry \"u..”"" Son

ﬁ&mﬁmhdﬁzuihﬁai

Q

What is the final molanty ol HINO, solution, i 95mbL ol 2 M NGO wns diluted 1o i

final volume of 0.3 1.7

043 M
042M
063 M
053 M
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Which of the fol FWINR ropreser

Is the correct Lewis dot structure for OxyRen molocule”
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Queatne

H sl s
Which of these atoms is the most electronegative?

Al
Mg
Na
“‘
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c&

[n the reaction below, what 15 the theoreti
L0 react with 4 grams of H.Q?

al yiedd m moles for LiOH when 3 grams of

L0 H:O — 21L1OH

0.4 mol
0.2 mol
0.8 mol
0.6 mol





MK;L OE§

rotal questions in exam 26 | Answered: 20

Question No. 18

wWhich of the following elements has the highest eiel ”("”"”]'m\/m.f/





















yme for the ! nm\m\mt\ CO S

carbon oxide
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carbon dioxide
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Question No. 7 “ n

Which of the following compounds gives a nonelectrolyte aqueous solution

Na,CO;
CCly

HI

HB1
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the reaction:
Cuys

b
-
1<

- Cut'ay

b
-
(32

Cls) 1s the oxidizing agent and Ag™ .0 1S oxidized.
Cuy,) 1s the reducing agent and Ag™ () 1s reduced
AL (s 18 OXidizing agent and Cuw, is reduced

Ag"(ag 18 the reducing agent and Cuy) 1s reduced.
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culate the mass percent compositionof oxygen in Ga2(S04)3
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Question No. 6 n u

The ionization energy of silicon 18 lower than ths nization enerqy of

sodium
aluminum
phosphorus

magnesiun
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Question No. 7 n n

Which of the following compounds gives a nonelectrolvte agueous solution

Na,CO;
CCly

HI

HB1
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Question No. 9 nn

The molarity (M) of an aqueous solution contamning 52.5 g of sucrose (C15H> 2011) n

355 mL of sclution 18






MECLIOLS Chemistry Quiz2 Sem1_2019

Total questions in exam: 25 | Answered. 0

Question No. 8 nl

What is the coefficient of phosphorus after balancing the following equation?
_P(s)+ Oa(g)— P205(s)

LD L e

P+50 )
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Question No. 11 “l






exam 25 | Answered

Total questions n

Question No. 12

» present In the areatest amount

»

the smallest amount
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Question No. 10

il yweld IS 144 g and Its actual yield s 46 g%






MKCL OES Chemistry_Quiz2_Sem1_2019

Total questions in exam: 25 | Answeted. 0

Question No. 14 nn

Calculate themolarmass of Ca CO,
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Question No. 12 nl
What 1s the coefficient ¢
= A

AgClO3(s) —
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Question No. 15 n ‘

Solid aluminum and gaseous oxygen react in a combination reaction to produce Al;0O3
4Al1(s) + 302(g) — 2 A103(5)

'he maximum amount of Al>O3 that can be produced from 2.5 g of Aland 2.5 g of

O 18 g
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Question No. 13

Which of the following statements 1s FALSE regarding an ionic bond?

) :ijlv"-:- "v'rl?'!'h.".
bond Is formed between wo nonmetal atoms

} and a nonmetal lon

Ay ine . . ~
AN 10NN I',,.A. \ " I'!!»':,-»“ 0

Metal atoms lose electrons and nonmelal atloms gain electrons

Chemistry Quiz2_Sem1_2019
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) of barium sulfate is pr‘\d\;ce\i )

Question No. 19

A chemical reaction produces 7 25 moles ol barium sulfate. BaSO4+. What mass (in grams
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Question No. 16 nl

ved that it has a hiah bolling point and Is brittie. 1t 1S an insuial i1ISas

melted. Which of the following substances would have those characteristics
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Question No. 17

The combustion of ammonia in the presence of excess oxygei yields NO; and H)
4NH3(g) + 702(g) — 4NO2(g) T O H>O (2)

g of NO»

The combustion of 43.9 g of ammonia produces
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Question No. 18 nl

negativity In the pel odic lable?






Chemistry_QuizZ_Sem1_201 9

plal questions In exam 25 | Answered: 0

Juestion No. 22

The oxidation numbe: of 1odine in K104 18
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estion No. 20

carbon monexide
carbon gloxide

carbon oxde

monocarbon monox (3¢
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Question No. 23

One of the following € pments exisis as an atomic e
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estion No. 21

yw many moles of (NH4 )28 are therein 75 g of (NH4)257?
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L

Question No. 25

What 1s the Tinal n 8 | of 4 M NaOH was diluled (0 a final voiu
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Question No. 13 “.

Which of the following statements is FALSE regarding an onic bond”/

Breaking an lonic bond between Wo (ons requires energy

. ] ‘s - " - . .
bond Is formed between wo nonmetal atoms

An onic ! id 1S the atlraction between a metal lon and a nonmetal 1ot

Metal atoms lose electrons and nonmelal atoms Jgain electrons
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Question No. 2

When 220 g NaCl and 21.0 g H;S04 are mixed and react according to the equation
below, which is the hmiting reagent”

INaACl + HiSO¢ —» NasSOy + 2HCI

HC
Na: SOy
H+SO),

"wd( l :











Question No. 21
The c“ut‘ﬂi('u'nts (u,h_r,d) nct'da'd (%) bHalance the eqquntie 1 helow L
a rFes b O . ¢ Feat )y A SO
(4,7,4.2)
(4.4.7.2) ==
T W
(7.4.2.4) /,(:f' ' y
= |.f. g
‘,/ './ \“ }\
3 ) .
\_ B i_\\
N N
¢
¢ A

(4.7.2,4)
(R
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b e asatma e s

1 Question No. 24
The most correct name for the compoundPsS1o '5:

tetraphosphorus nonasulfide
triphosphorus decasulfide
tetraphosphorus octasulfide
tetraphosphorus decasulfide














Suestion No. 2

.. & s N Man 1Inheée NWAanon enciay




.




-~
WS

Question No

-
-
- - - .
. - < -
. - y
[ _d




auestion . zs

In which of these substances are the atoms held together by polar covalent bonding”?

.
U
N
L

CIF




Question No. 24
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Question No_ 4

What is the final molarity of H,SO4solution, if 1Z0mlL. of 4 M H,;SC

8T R ST 1
nnnal voiume ot u S I..\




Ouestion No_ 10

: )1 wed Of two eeciron ;x.mu~.h.n:-<1tw"-.'.c-e-nf.‘.cz.l'ml“vw
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Question No. 1 n

: /
What is the oxidation number of carbon in €'¢ )y 7
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When 22.0 g NaCl and 21.0 g H;S0; are mixed and react according to the equation
below, which is the limiting reagent?

INACL + HiSO4 ~» NasSOy + 2HCI

H504
NaCl
HCI
NSOy






Question NO. 3

Al (SO4)3) 18

of Al n alumunum sulfate (

T he IASS L)
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Question No. 5
When the following equation is balanced, the coefficient for AICI; will be

Al+Ch AlICk

g——
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Question NO. 4

W CO ¢ ould be puulm ed when

hnp,lutl\rlrmunu"
CiHO ()

How many molecules ¢

with oxygen gas accott
10 Y { 1O

24.08X 10 molecules

12.04X 10+ molecules
1 molecules

3

) molecules

J moles ol

rel omplete

ly rent |

| Jaeal

Hum

M
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Total question

Question No. 7
Which of the following species has an oxidation number of zefo ?











" Total questions in exam: 26 |Ansmred 1

Question No. 6

electrolyte aqueous solution

gives a strong






Question No. 8

In a solution the solute 1S

always 4 solid

stance present in the smallest amount

the sub

always water
substance present in the greatest amount

the
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el s

1 HCI to a total volume of 1500 mL?

Question No. 10

What Is the molarity of HCI solution prepared by diluting GOOmLOI1ON

OZM
O1M
20M

D4M
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Question No. 13

Using Lewis dot structure find the numb

w

L ™ |
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alancing the following equation?

ent of oxygen gas after b
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Question No. 14

Predict which of the following compounds has an ionic bond
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Question No. 12

What is the coeflicient of oxygen gas afte
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Question No. 1§

'he empirical formulaofthe molecular ( HHI[)HHH(“ sHi218:

Collyg

CH
1§
CH
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Question No. 19

lonization energy IS

the energy needed (0 remove the least tightly bound electron

the energy an ion gains from an electron
higher for potassium than for ithium

highest for metals in Group 1A(1)
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How many moles of (NH4),S are therein 150 g of (NH4),S?

R
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question No. 15

What is the charge on the Fe ions in Fe2 037
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Question No. 22

Analvsis of an unknown substance showed that it has a hiah bolling point and 15 hrittle 11 1S an Insulator 2% 2

S ' M
solid but conducts electricity when n elted Which of the following ¢ ubstances would nave thoy o6 i

characierstics?

/
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Question No. 24

Neon is an example OfE i S =

jonic compounds
molecular compounds
diatomic molecules

atomic elements
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A chemical reaction produces 7 2

Ni
moles of barium sulfate, BaSO«. What mass (in grams) of barium sulfate is produced? NL
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Question No. 23

'he name of the chemical compound CuSOs1s:
\ \“‘P(\l \”‘ \‘Ulfdlt’

copper(li sulfate

copper sulfate

copper(l) sulfate
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Question No. 21

The most correct name for the compound SO; is:

sulfur oxide
mono sulfur trioxide
sulfur(ll) oxide

sulfur trioxige






